

Summary of Bids Received

Project: Warren Road District 2016

Section: 16-14149-01-GM

Description: Mill, Patch and Resurface

CPMS Pin: B-40981 **Let Date:** 4/12/2016

Bidder	Address	City, State, Zip	Bond	Bid Price	% Over/Under Eng. Estimate	\$ Over/Under Eng. Estimate
Peter Baker & Son Company	Baker & Son Company 1349 Rockland Road		Bid Bond	\$91,000.29	-26.47%	-\$32,761.71
Payne & Dolan, Inc.	28435 W. Route 173	Antioch, IL 60002	Bid Bond	\$104,943.40	-15.21%	-\$18,818.60
Schroeder Asphalt Service, Inc.	P.O. Box 831	Huntley, IL 60142	Bid Bond	\$111,890.34	-9.59%	-\$11,871.66
Chicagoland Paving,Inc.	225 Telser Road	Lake Zurich, IL 60047	Bid Bond	\$111,900.00	-9.58%	-\$11,862.00
I. A. Johnson Paving Company	1025 E. Addison Court	Arlington Heights, IL 60005	Bid Bond	\$129,127.54	4.34%	\$5,365.54
Engineer's Estimate				\$123,762.00		
Design	IDOT(2)	Contract Bidder	P	JT then Plan Rack		
Finance	Bid Tab File	Resident Eng.	A	dministrative Assis	stant	
Construction	Project File	Request By Mail		/Igr Capital Prograr	nming	



Bid Tabulation

Project:Warren Road District 2016Section:16-14149-01-GMDescription:Mill, Patch and Resurface

CPMS Pin: B-40981 Let Date: 4/12/2016

					Eng Estimate Chi							T				
Item No.	Pay Code	Description	Quantity	Unit	Eng Est	imate	Chicagoland Paving,Inc.		J. A. Johnson Paving Company		Schroeder Asphalt Service, Inc.		Payne & Dolan, Inc.		Peter Baker & Son Company	
					Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
1	40600290	BITUMINOUS MATERIALS (TACK COAT)	3,179.0	POUND	\$0.50	\$1,589.50	\$0.01	\$31.79	\$0.01	\$31.79	\$0.01	\$31.79	\$0.01	\$31.79	\$0.01	\$31.79
2	40600827	POLYMERIZED LEVELING BINDER (MACHINE METHOD), IL-4.75, N50	292.0	TON	\$90.00	\$26,280.00	\$100.00	\$29,200.00	\$100.00	\$29,200.00	\$95.00	\$27,740.00	\$78.00	\$22,776.00	\$74.00	\$21,608.00
3	40600982	HOT-MIX ASPHALT SURFACE REMOVAL - BUTT JOINT	114.0	SQ YD	\$15.00	\$1,710.00	\$10.00	\$1,140.00	\$2.50	\$285.00	\$8.00	\$912.00	\$12.70	\$1,447.80	\$2.00	\$228.00
4	40603335	HOT-MIX ASPHALT SURFACE COURSE, MIX "D", N50	594.0	TON	\$85.00	\$50,490.00	\$82.00	\$48,708.00	\$70.00	\$41,580.00	\$75.00	\$44,550.00	\$64.69	\$38,425.86	\$57.00	\$33,858.00
5	42001300	PROTECTIVE COAT	50.0	SQ YD	\$3.00	\$150.00	\$5.00	\$250.00	\$5.00	\$250.00	\$5.25	\$262.50	\$5.00	\$250.00	\$3.00	\$150.00
6	44000157	HOT-MIX ASPHALT SURFACE REMOVAL, 2"	6,317.0	SQ YD	\$2.50	\$15,792.50	\$2.15	\$13,581.55	\$3.25	\$20,530.25	\$2.15	\$13,581.55	\$3.35	\$21,161.95	\$2.50	\$15,792.50
7	44000500	COMBINATION CURB AND GUTTER REMOVAL	250.0	FOOT	\$15.00	\$3,750.00	\$10.00	\$2,500.00	\$20.00	\$5,000.00	\$21.00	\$5,250.00	\$15.00	\$3,750.00	\$5.00	\$1,250.00
8	44201713	CLASS D PATCHES, TYPE I, 6 INCH	50.0	SQ YD	\$65.00	\$3,250.00	\$40.00	\$2,000.00	\$0.01	\$0.50	\$60.00	\$3,000.00	\$75.00	\$3,750.00	\$20.00	\$1,000.00
9	44201717	CLASS D PATCHES, TYPE II, 6 INCH	50.0	SQ YD	\$65.00	\$3,250.00	\$35.00	\$1,750.00	\$100.00	\$5,000.00	\$55.00	\$2,750.00	\$70.00	\$3,500.00	\$20.00	\$1,000.00
10	LC600018	COMBINATION CONCRETE CURB AND GUTTER, TYPE M-4.12 (ABUTTING EXISTING PAVEMENT)	250.0	FOOT	\$50.00	\$12,500.00	\$25.00	\$6,250.00	\$45.00	\$11,250.00	\$47.25	\$11,812.50	\$36.00	\$9,000.00	\$45.00	\$11,250.00
11	X7010216	TRAFFIC CONTROL AND PROTECTION (SPECIAL)	1.0	L SUM	\$5,000.00	\$5,000.00	\$6,488.66	\$6,488.66	\$16,000.00	\$16,000.00	\$2,000.00	\$2,000.00	\$850.00	\$850.00	\$4,832.00	\$4,832.00
	Bid Total				\$123,762.00		\$111,900.00		\$129,127.54		\$111,890.34		\$104,943.40		\$91,000.29	



Return Bid Details

Project: Warren Road District 2016

Section: 16-14149-01-GM

Description: Mill, Patch and Resurface

CPMS Pin: B-40981 **Let Date:** 4/12/2016

					Eng Estimate				
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
1	40600290	BITUMINOUS MATERIALS (TACK COAT)	3,179.0	POUND	\$0.50	\$1,589.50	\$0.01	\$0.01	\$0.01
2	40600827	POLYMERIZED LEVELING BINDER (MACHINE METHOD), IL-4.75, N50	292.0	TON	\$90.00	\$26,280.00	\$74.00	\$100.00	\$89.40
3	40600982	HOT-MIX ASPHALT SURFACE REMOVAL - BUTT JOINT	114.0	SQ YD	\$15.00	\$1,710.00	\$2.00	\$12.70	\$7.04
4	40603335	HOT-MIX ASPHALT SURFACE COURSE, MIX "D", N50	594.0	TON	\$85.00	\$50,490.00	\$57.00	\$82.00	\$69.74
5	42001300	PROTECTIVE COAT	50.0	SQ YD	\$3.00	\$150.00	\$3.00	\$5.25	\$4.65
6	44000157	HOT-MIX ASPHALT SURFACE REMOVAL, 2"	6,317.0	SQ YD	\$2.50	\$15,792.50	\$2.15	\$3.35	\$2.68
7	44000500	COMBINATION CURB AND GUTTER REMOVAL	250.0	FOOT	\$15.00	\$3,750.00	\$5.00	\$21.00	\$14.20
8	44201713	CLASS D PATCHES, TYPE I, 6 INCH	50.0	SQ YD	\$65.00	\$3,250.00	\$0.01	\$75.00	\$39.00
9	44201717	CLASS D PATCHES, TYPE II, 6 INCH	50.0	SQ YD	\$65.00	\$3,250.00	\$20.00	\$100.00	\$56.00
10		COMBINATION CONCRETE CURB AND GUTTER, TYPE M-4.12 (ABUTTING EXISTING PAVEMENT)	250.0	FOOT	\$50.00	\$12,500.00	\$25.00	\$47.25	\$39.65



Return Bid Details

Project: Warren Road District 2016

Section: 16-14149-01-GM

Description: Mill, Patch and Resurface

CPMS Pin: B-40981 **Let Date:** 4/12/2016

	Ect Date.	·/ ==/ ==-							
					Eng Estimate				
Item No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Min. Bid Price	Max. Bid Price	Avg. Bid Price
11	X7010216	(SPECIAL)	1.0	L SUM	\$5,000.00	\$5,000.00	\$850.00	\$16,000.00	\$6,034.13
		Bid Total			\$123,762.00				